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���
 �����	��
� ����� �����
 ���� ��
����
 ���

�
� ��� ��	�� �!�� ��� ���

�� �� �� ��� "��� #��� �����	���$ �����%����

��� 	
������	�
� ���#��
 ����� �����
�
�� ��� �% %�
����
��� 	������
��$

��� !�&� 	
���������	� � ���� ���#� ����� �	'���
� ���� �� 
���� !�2��

!�12� �
� !�22� (�)$ *�+	
� �	'���
� �� �	��� �������	��� 	� 	� 	������
�

�� 

�# �
��� #�	�� ��
�	�	�
� ��� �	'���
� ���� � ��� %�����$ ,	
�� � 	�

���� 	
 ��� �	+����� ���	�
 ��� �� ��� �	�� ����	
� ��	
� �Tm = 3695 -��

��� ��#�� ����	
� ��	
� �% ��� 

�#
 ���� � 	� ����	��
��� �� ��� ����	�	� �%

����� �����$ �����	��� !�22� �Tm < 1800 -� �
� !�12� �Tm < 2000 -�

��+� �	�
	"��
�� ��#�� ����	
� ��	
��$ .	���� 	� 

�#
 �
 ��� �����	+	� �%

!� �
� � 	
 ��� �	��������$ /��� ���� �������� � 
�# ��� �������� ��

���
 ����$ �� ��� 	
�������� 	
 ���%��� �
� 
���0���%��� ���������� �	
�� �#�

����� ��
 �� �	��	
��	���� ��
���
	
� ��������� 	
 � %��	�
 ��+	��$ 1���� �

��
����
 ��
 �� �����	��� �
�� � ��� ��	�� ���%��� �� +	�� +����$ �����

�#� ���������� ��+� ���
 �����
 	
 ��� 	
+���	���	�
�$ 2 ��
����
 "��

��� ���
 �������� �
 � ��� ��	�� ��������� �� #��� �� �
 	
+���� � ����$

! ��	� ���
�� #� ��
 	
+���	���� �	'��	�
 �� �������	�
 ��������� �
� ���� 

%�����	�
$ 2%��� ��������	�
� ��� ������� ��� ������ �� � ��������	+� �����

�
� 	
+���	����� #	�� ������%��� ���
�������	
� ����������� ��!,�� 30�� 
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������������
 ����������� �35,� �
� 30�� �	'����	�
 �3�6�$ �������

�!, �
� 35, ���������
�� ���+	�� 	
%�����	�
 �
 �����
��� ������	�	�


�
� ����	��� ������� ��� 3�6 ��#��� ������
� ����# ��� 	��
�	"���	�
 �%

�� �����������	� ������$

� �
���
������

�!, 	� ���%����� �� ��� 7����	
� 4 /8 ��
��� ����������� ��!, #	�� 1*�

3*� �
� 4*�� �������	
� �
��� �9:◦�$ 35, �
�� �	� 	� ���%����� 	
 � 5*�

�,�2 :9;; ������������$ ��� ����� ���������
��� #� ��� � ��
��������	�

2� -α ������ ��ν = 1486.6 �8� �
� �
 �
�� <�� ���� �% ;$= �� 	
 �	������$

��� ������� ����� ���"��� ��� �������� 	
 ��	� >*8 ������� �
��� �
 	�


	����� �
��� �% ?:◦$ ��� �����	��
��� ����	�� ��
���
	
� ���� ����
	@���

�
� ���	� ����	
��	�
 #� ��%�� �� (�)$

��� �	'����	�
 ������
� ��� ����	
�� � ΘA2Θ ���
� ��	
� �
 30�� �	'���0

������� 3�6 4;;4 5�, %��� ,�	%��� �@�	���� #	�� � �� �
���$ ��� �������

��� 	����	
���� � �
 30�� ���� �% ����� 4 �� �	������ #	�� ��� �
��� 

�% ��� �� -α�Aα� �	
�� �λ =�$:?� B�$ ��� ��� !� "�� �
 �� #� ��� � "���

	
�	��
� �
��� �% �◦ #	�� ������� �� ��� ���%���$ ��	� ������� 	� ���� %��

� ��# Z �!�� �����	�� #	�� � ��# ����� ����	�
 %�� 30�� � �
 � �	�� Z ���

�����	�� ����	
� �� � �	���� ���%��� ��
�	�	+	� $

?



�#� �	'���
� � ����� ��� 	
+���	����� 	
 ��� �����	��
��$ ��� ��� "��� �����

� �
 !�� � ��� �� �����	
� !� ��������� �1 × 1 ��2� 	� ����$ ��� � "��

���	�

��� �;; 
�� 	� �����	��� 	
 � ���
����
 ������� ��+	�� ����� ��������

2 × 10−5 5��$ ��� !� ��������� 	� ������ 	
 � ���� 2� ������ ��%��� ���

�� �� �����	�	�
 	� �������$ ��� ������ 	� ���
 �
�� <�� � �!, �
� 35,

�%��� ���� 	
� ������� �������
��$ ��� ��� ����
� ����� !� �
 �� #� ��� �

��� �� �����	
� � ��������� �1×1 ��2�$ ����� ���������
�� ��� ���%�����

	
 � >*8 ������� #���� ���%��� �
�� �	� ���	
� 35,� �
� ������ �������0

�	�
 �����
	
� �
� �� �� �����	�	�
� ��� ����	��� #	����� ���
�%�� ������� �	�$

��� � ������ 	� ����
�� ��	
� �����
��	
� ������� �4 
�8 2�+� �
� ����	
�

� ���� �CD; -� �
�	� 
� 	����	�	�� ��� �������� 	
 ��� 35, �������$ ��� !�

�� ��� ��� �����	��� %��� � �������	�� �+�������� �E�	���
 ��/4� ��	
� �

!�E ����	��� "���� #	�� !� �	���� �*�- 7��*� CC$CCC%�$ ��� ���� ����0

���� 	
 ��� >*8 ������� 	� ������ ���
 2× 10−8 5�$ 6��	
� ��� �����	�	�


���������� ��� �������� 	� ����# 4 × 10−8 5�$

���� ��� �!, ������� �������� %�� ��� "��� � ���� �� �
 !��� #� ��� 	
0

%�����	�
 ����� ������ ������	�	�
 �
� ����� �	���	���	�
� #������ 35,

�
�� �	� ���+	��� %������ 	
%�����	�
 ����� ������ ������	�	�
 	
 ��� 
���0

���%��� ���	�
 ���+���� 
�
��������$ /����+��� ��� ����	��� ����� �% !�

�
� � ��� ������	
�� %��� ����	��� ��	%��$ 2%��� ��� "
�� �

���	
� ����

��;D; -� ��+���� ������� ��� ������ 	� �
�� <�� #	�� � ������� ����� ���"��

:



�4 
�8 2�+� 	
 ��� 35, �������$ ���� 3�6 ���������
��� #� ��� 	
%����0

�	�
 ����� ���� ��� ���������� �% ��� �� �� �
� ��� ��������� �%��� ��� "
��

�

���	
� ����$ ��� ��� ����
� � ���� �!� �
 ��� ������� �������
� �
�

35, �
�� �	� ��� ���%����� 	
 ��� ���� >*8 ������� #	����� �
 ���
�0

���� ������� �	�$ �!, ���������
�� ��� 
�� ����	��$ �����	���� �%���

�� �� �����	�	�
� ��� ������ 	� �
�� <�� ��	
� 35, ������� 	
 ���+� �
�

�	�� �������	�
 �����$ ���� ��� ���+� ���
�� ��� ������ ������	�	�
 	� ��0

�	�����$ ���� ������� ����	
�� 	
 ��� �	�� �������	�
 ����� 	
%�����	�
 �


��� ����	��� ������ 	� ��	
�� %��� ��� ��	%�� 	
 ��� !� 1s �
� � 4f �	�
���$

��� ������� ��� �

����� 	
 ����� �% �;; - �� �� �;D; - �
� �
�� <�� ��

���� �����������$ ��� ��� 3�6 �
�� �	�� #� �����	� !� �
 � �� :; 
��

	
 � �������� ��������	�
 ��@��
�� �
� �

��� ��� ������ �� �� CD; - %��

C; �	
 	
 >*8 ��%��� ��� 3�6 ���������
�� ��� ���%�����$

� ������� ��� �
�	���
��

��� � ��� �	 
� �
�������

��� ������� �% �!, �
� 35, ���������
�� ��� �����
��� 	
 ����	� �� ���

5,�0�D ��
%���
�� 	
 �;;9 (�)$ *���� #� �����
� � ����� ������ $ 2%��� ����

�

���	
� ���� ��� �� �;D; -�� ��� ������ 	� �
�� <�� #	�� �!,$ ,������
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����	
�� #	�� 1* �
� 4*� �	+� 	
%�����	�
 ����� ���
��� 	
 ��� � �� ��$

!���# �;;; -� ��� � �� �� 	� �
� ����� �'�����$ 2� �;D; - � ���	

	
�

!�&� 	
����	�	
� �� ��� �� ��0��������� 	
���%��� 	� �����+��$ ��	�� ���

�

���	
� �	�� 	
�������� ��� � 	
��
�	� ���������� ��� ��� � 	� 
�� ���0

������ ���� 	
�� ��� !� ���
$ ��� !� ���� 	� ���� �
�'����� �� �� CD; -$

2%��� ��� "��� �

���	
� ���� �� �;D; -� �
 	
����	�	
� �% � �
� !� 	� ��
0

������ %��� ��� ���	�	�
 �% ��� !� ���� �
� �
 ���	�	�
�� !� ���%��� ���
$

� 	
 ��� ���%��� �� �� 	� �������� � !�$ 2%��� ��� "
�� �

���	
� ���� ��

�;D; -� ��� !� ���%��� �	�
�� +�
	���� �
� ��� �!, �������� 	
�	����� �

������ !� ����� �	���	���	�
$ ���� ��� 1* �
� 4*� �!, ���������
���

��� ����� ���"��� ��� ����������$ 2� 	� 	� �����+�� 	
 ��� �!, �������0

��
��� ��� !�&� 	
����	�	
� ���	
� ���+� �;;; - �
� ����� �� � ������

����� �%��� 9;; �	
 �� �;D; -$ ��� ���	��	�����	� ���	� 	
�	����� ��� %��0

���	�
 �% !�12�$ ��� ������ 	� ���
 �
�� <�� � � ������� ����� ���"�� 	


����	
��	�
 #	�� 35,$ 2%��� ��� ����+�� �% ���%��� ��
���	
��	�
� �� �
�

E�� #� �����+� � ��
���
� ������ ������	�	�
 �D:$D% !�� ��$C% � �
� E�

�������
�	
� ��� !�&� 	
���������	� �����$ 35, ���������
�� 	
 ����	0


��	�
 #	�� ������� ����� ���"�	
� �� 
�� �������
� ��� ���� ���	��	����� 

�% � ������
� ��� �� ���%���
�	�� �������	
� �'����$ �
 ��� �	�� �������	�


������� #� �����+� �
 ���� �����
�
� ����$4 �8� ���	��� ��� ������	� �����

����$= �8� #	��	
 ��� !� 1s �	�
��$ ��� �	
�	
� �
��� ��	%� ���#��
 �����

D



�����
�
�� ������� 0;$: �8$ 2� ��� ��������� ���%���� 	
��
�	� %��� !�E

���?$= �8� ���	
���� ��� !� 1s �	�
��$ 2%��� ����+�� �% ��	� !�E ���%���

�� ��� ��� #���� !�&� �� �� ���#� � ��
���
� ������	�	�
 #	��	
 ��� !� 1s

�	�
�� �9:0D;% ���� � 4;% ����� �
� < 5% !�E�$

��� ��� ���������� �
�� �	� �% ��� !�&� �� ��� 3�6 ���������
�� ��� ���0

%�����$ ��� �	'����	�
 �	����� �%��� ��� "
�� �

���	
� ���� �� �;D; - 	�

���#
 	
 ��� ����� ��
�� �% �	�$ �$ ��� ��%���
�� ���� %�� !� �
� !�12� 	


��� ��#�� ��
��� ��� ��
�
 %��� ��� F�56,0��66 �������� (4)$ ��� ����

��%���
�� ������
� ��� ���	����� %��� ��� ��%�#��� ���
��� 6	���
� (?)� ��
0

	
� 	
�� �����
� ��� �� ���� ��������� �% !� �
� !�12� (:)$ ��� ���������

��������� ��� �� %����#�$ !� 	� � ����� #	�� � ������
�� ����	�� ���������

�593A���� �G�$�=9 B� �G4$:=? B� �
� !�12� ���#� � �������
�� �
	� ����

��?A���� �GD$��; B� �G?$��; B�$ ���� � ������	��
 �% �������� �
� ��%0

���
�� ����� #� ��
����� ��� %�����	�
 �% !�12�$ ��� �������	+� ��%���
���

�% !�12� 	
 ��� �������� �	'����	�
 ������
 ��� ���
�� � •$ 2��	�	�
��

���
� ��� %��� ��� !� ��������� ���$ �
 ����	������ 
� �	'����	�
 ������
�

��	�	
��	
� %��� �� !�E �
� !�2� ��� ��������$ ,	
�� #� �����+� �
� !�

�
� !�12� �	�
���� #� ��
����� ��� %�����	�
 �% ��	� ���� #	��	
 ��� !�&�

	
����	�	
� ����� ��
��$ ��� !� ������
 ��	�	
���� %��� ��� ���������$ ���

�	'��	�
 �% � �
� !� ����� �� ��� %�����	�
 �% �
 ������� ���� �!�12�� 	


��� !�&� �� ��� �� 	� 	� ���� ������	
�� � �!, �
�� �	� �
� �������� � 

=



35, ������� ����� ���"��$

���� ��� ����	
��	�
 �% �!,� 35, �
� 3�6 ���������
��� #� ��
����� �

!�&� 	
����	�	
� ���+� �;;; - #	�� � %�����	�
 �% � ��
���
� ���� �����

�%��� ��
�0���� �

���	
� �� �;D; -$ ��	� ���� 	� 	��
�	"�� �� !�12�$

��� 
� ���� �	 � �
�������

�� ������ �����
��� 35, ���������
�� 	
 (�� 9� D) �
� �	+� ���� � �����

������ $ 2%��� ���� ����������� �����	�	�
 �% !� �� ��� %��� �����
�0

�� �� ��+����� �� �� ? 
� ��	�

���� #� �����+� � !�&� ���%��� ���� ��0

���	���� �� ��� 	
���%���$ ��� ���%��� ���� 	� +	�	��� 	
 ���� �	�
��� �< 10%

	
 !� 1s �
� � 4f�$ !� �����	��� 	
 ������ 	� 	
 ��� ������	� �����$ ��

�����+� ���� !�E �< 10% 	
 �+������ 	
 ��� �� ��$ >� �� 9D; -� ��� !� �� ��

��	�

��� �
� ������	�	�
� �������	+�� � ����	
 ��
���
�$ 2��+� 9D; - ���

!� �� �� ��	�

��� ��������� �
� #� �����+� �
 	
������ 	
 ��� ���� 	
��
0

�	�	�� #	��	
 ��� !� 1s ����� �� ���$� �8� Δ!�= 0;$D �8� �
� � 4f ����� 

�� 4�$; �8� Δ!�= 0;$? �8� �	�
���$ ��� ���	��	�����	� ���	� �% ��	� ���� 

������
� 	� !�≤2�$ ��� �����+��	�
 �% � �	
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